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¶Ó Îtmhrt edl

ÎÁmèÏ°r ‚›b (€lß”zm) ¤°◊¹  Œl½ Î°†ÑÏ °g§•µmn †≈sàØm Î√Ñsm†n ÈØ

¶w~ Îk�mt Ár™ à³n €lß”zm Î√à³hwn Î°†ÑÏ µÑ¢Çm ¤°◊¹  Œl½ yXf¹l~

• ∫†t Ÿµ—mn ¼m³wŸt ÈØ ¤°¸≈” ¤fµ¶t ≈§Ët

• ¤€nd tlq ¼°≈ wsµ ¼€nd ©³ ÂÔ Š‰ ©³ ¤fµ¶t Œd�s Î√Ñsm†wn ŒnÚd

Œ†Ît

• €nd €yl Ñ‰hw ¼Zh ¤‰y ◊µ°{ ÎsŠt µÑ¢Çmn Œf³t

x+ 2y = 5, 3x− 2y + z = 7, y + z = 1
x, y, z = ?

• drÔ• : 1 9 4 2 8 6 =⇒ 1 2 4 6 8 9

• Œ�£Çmn ≈°•◊m¹ Œà†g

• . . . bÉ °¸≈”

Ît? AAiT, €Ös €¤§ Ï¸ªrš² (€mst ¾‹) Œl? ˜º 27 – HmŠ 22 (Î‚tÓÊÑ ÎÈŒn €£³°r)

tmhr± Î√˜°w ¤…ngˆz{ ¶w ~µ“ Î‚›b m‹³ Ñ‰hw °≈”Çm †ŒŒzÚb¹ °¸≈”

Œ�£ †≈gxt ‚-�yl …nÖÑÔrÛln y¤�³³‡ ~ Î‚-�yl €d•[mnn †≈gxt Î√¼°†wn

µÑ¢ f±~

Puzzle: 700 people enter a room, and everybody shakes everybody else’s hand exactly once. How
many handshakes are there total?

If the answer to the above puzzle is X, then email algorithmsX@mit.edu.
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